Use your arithmetic, written methods and problem solving skills to answer
all of the questions. Make sure you turn over!

354 + 148 = 94 - 3 =

Partition 706 into hundred, 532 - 127 =
tens and ones.

33x7 = Complete the sequence:

8___ 24 32 48

Complete the following using < 5 1
> or = 6 T 6
300g 3kg
250cm 2m

Now turn over for your problem solving and reasoning questions...



1) Hamza chopped up a
pineapple and gave 3 to his
mum. He also ate half himself.
How much was left to give to
his dad?

Q2.

Write the correct sign =, > or < in each circle.

2 marks



